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1000 RC-40 E‘;I] =)

\ / 3
©
\ / —
\ /
[ ]
1500
(1Y)
H H FSEA S H KX gy
(1. 500+3. 150) /2% 1. 650 X (1. 500+ 5
A 0 3.150) /2 S99 m
2 2
PR 8.919— (1. 000%X 0. 150+0. 900> X 7 595 o
1. 450)
2 1. 000X 1. 000 1. 000 m?
LR 1. 000 X 1. 000 1. 000 m?
a7 J—F 18-8-25 BB X LY 0.834 me
o _ I 8.120 m?
T GC-B500-1.500 ) ) ¥

, 52kg/H




ALKt G2-B500-L500-H700

50 500 150
()
(] o
Lo ~
(e0)
50
i |
Lo
3 POSOS0S050
\ | EBREAE
900 RC-40 (fi: L 3E2)
I}
(= )
o
(aw ]
I |
1400
(1Y)
H H F S B ® OB
PRAE Y 1. 400%X 1. 000 1. 960 m?®
HEL 1. 960 — (0. 900%X 0. 150+0. 800% X 0. 850) 1.295 m®
2 0. 900 X 0. 900 0.810 m2
LR 0. 900X 0. 900 0. 810 m?
a7 Y—Fh 18-8-25 BB | kv 0. 369 m>

T - ,; 4420 m®




LK

G1-B600-L600-H800

150 600 150
S [LII__T111
[e] o
3 S
50
3 |
Lo
O
s Ya W‘\W‘\V\]
HERBE
‘ 1000 ’} RC—40§I:,;‘IZ)
, 2700
C11 |
N
\ /s
\\ // =
/
I |
‘ 1500 ‘
(1Y)

H H FSEA S H KX gy

(1.500+2.70) /2% 1. 200X (1.500+ 5

A 0 2.700) /2 29z m

. 5.292— (1. 000* X 0. 150+0. 900* X 3

5 )

R L 1. 050) 4292 m
2 1. 000X 1. 000 1. 000 m?
oA 1. 000X 1. 000 1. 000 m?

a7 J—F 18-8-25 BB K& XY 0. 508 m?

o _ I 6. 300 m?

T GC-B600-1.600 ) ) ¥

, T0kg/#




LK

G1-B600-L600-H1200

200 600 200
||
S [CO 11
g g
50
o —
S
1100 R D
3250
|| 11
/
\ /
\ /B8
\\\ /// -
\ /
\ /
[ |
1600
(1% )
H H fSEA S " X =
(1. 600+3. 250) /2 X 1. 650 X (1. 600+ 5
RIE Y 3. 950) /2 9.703 m
o 2 2
P | 9.703— (1. 100*X 0. 150+1. 000° X 7872 m’
1. 650)
e 1. 100X 1. 100 1. 210 m?
pra YAy 1. 100X 1. 100 1. 210 m?2
a7 J—Fh 18-8-25 BB HE LY 0. 963 m®
B _ " 9. 280 m?
I GC-B600-1.600 ) 9 ¥

, T0kg/H




YN 25kt T

830

600
[ T
8
seas ) o8
ERBER S
930 -
! 1030 ‘
3315
|EEEEEEEEENENEN
g
‘ 1830 ‘
VEERERD
H H O H X 2y
RV (1. 83%+3. 315%) /2 X 1. 485 10. 646 m?
_ 2 2
PR 10. 64? (1. 032X 0. 10+0. 932X 0. 10 9. 568 o
+0. 832X 1. 285)
HEEE e 1. 030X 1. 030 1. 069 m?
T L%y A MEADE 1.00X 1. 00 1. 000 1
A "—har s y—h 18-8-25BB 0.60X0.60X0. 10 0. 036 m?
Ffkz o7 U — k| 18-8-40BB t=100 0. 93X 0. 93X 0. 10 0. 086 m?
A - 0.93X0.10X4 0.372 m?2
PNy RC-40 t=100 [1.03%1.03 1. 061 m?2
P 1. 000 pi'e




K 3K T
830
600
|EEEEEEEEEEENEE]
A nR—Fray 2 o
E@Rav s U—+ =
O _sess O 18
930 -
1030
3315
T IITTTITTITTITTT]T
2
1830
VEERERD
H H O AV 2y
RV (1. 83%+3. 315%) /2 X 1. 485 10. 646 m?
_ 2 2
PR 10. 64? (1. 032X 0. 10+0. 932X 0. 10 9. 568 o
+0. 832X 1. 285)
HEEE e 1. 030X 1. 030 1. 069 m?
T L ¥y A MK 1.00X 1. 00 1. 000 1
A "—har s y—h 18-8-25BB 0.60%0.60X0. 15 0. 054 m?
Ffkz o7 U — k| 18-8-40BB t=100 0. 93X 0. 93X 0. 10 0. 086 m?
A - 0.93X0.10X4 0.372 m?2
PNy RC-40 t=100 [1.03%1.03 1. 061 m?2
P 1. 000 pi'e




3-3. K& 7 o v 7 fE ¥ B T



24 BERET

T f# B Mol BANL B SR i o
A=A il m? 48. 3 48.3
A & 20 20
. B & 7 7
a7 C I 1 1
FFI \ D ﬂﬁL 4 4
‘OwaisT A= 7 Y —F m 53.5 53.5
TRVIRT e m’ 8.6 8.6
Hll P m? 12.8 12.8
# LG D13 kg 96 96
FERET m 6.5 6.5
FHERS m’ 3.1 3.1
ARG m’ 14.2 14.2




KES7 vy 7 FET. GELASUR)

it T g
0
Kb &
AREIER
L K
FEE
AT
Y
SENER
L R

(@)
KIS
R
THIER
KR

L

T
TR
s T Ak

(3)
RIGHESR
B &
FEPER
EHER
AIER
R
Rk s
it T iR

A4 = 26.565°
Hef5im = 26.565°
3.000 (m)
3. 000
3.000 + 3.000) =+ 2
7. 800 kR = 8.720
7. 800 HiEER = 8.720
7.800 + 7.800) + 2
8.720 + 8.720) —+ 2
3.000 X 8. 720
2.800 (m)
2. 800
2.800 + 2.800) =+ 2
7. 800 kR = 8.720
5. 000 Rk = 5. 590
7.800 + 5.000) 2
8.720 + 5.590) =+ 2
2.800 X 7.155
0.700 (m)
0. 700
0.700 + 0.700) =+ 2
5. 000 kR = 5. 590
0. 500 iR = 0. 559
5.000 + 0.500) =+ 2
5.590 + 0.559) =+ 2
0.700 X 3.075
9
AR
o ¥ X\‘@rL AR
» \% \\W%
@\:’;15‘)‘/151’&:
2800 3000
EL=57. 454
EL=57. 394
EL=54. 538
N
EL=50. 024 EL=50.038 \EL=50.094 \\EL=50.154

EL=49. 654

DL=60.0

DL=50.0

. 000

800

. 720
. 161

. 800

. 400
. 165
. 035

.700

. 750
. 075
. 152



K7 vy 7 FET GRS

A AR = 26.565°
it L i Fi Wefii5m = 26.565°
GEtETmEAE = (1) ~ (3) =
HBRREIER = (1) ~ (3) =
GBRHEARIERE = (1) ~ (3 =
K7 vy 7T (GRS
7 wy) 2005

AT 20 A

B® 7 1

CI¥E 1 M

D 4 fH

Kk E 1

=L (D13)
AT 16 x 8 A = 128 K
B® 7 % 4K = 28 K
CIE 1 x 8 A= 8 A
D 7 X 4K = 28 K
4

AR 192 K
R = 192 A X 0.5m= 96.00 m
96.00 m X 0.995 m/l=  95.520 kg

48. 348

6. 500

6. 500

(m*)
(m)

(m)



K7 vy 7R T GE AU

% i & o % T
i L e
20074 3.000 + 3.000 ) =+ 2
X 8.720 + 8.720 ) + 2 = 26. 161
2.800 + 2.800 ) =+ 2
X 8.720 + 5.590 ) + 2 = 20. 035
0.700 + 0.700 ) =+ 2
X 5.590 + 0.559 ) =+ 2 = 2.152
At 48.348 | %)
77wy il %%k
2004 AT 20 (D)
B¥ 7 (&)
CH 1 (1)
D 4 (&)
VARSI
20078 AJE 1.500 X 1.118 X 20
B + 0.750 X 1.118 X 7
I + 1.500 X 0.559 X 1
D% + 0.750 X 0.559 X 4 41.925 (m?)
(MRA &)
a7 J—b&
2.205 X 20
+ 0.928 X 7
+ 1.091 X 1
+ 0.453 X 4 53.499 | (%)
A A ( 48.348 =+ 1.118 — 1.000) X 0. 300
X 1.118 14.169 | @®)
(HIFT L)
EVZARIN iy ( 48.348 — 41.925) + 1.118 X 1. 500 8.618 | (®)
TR A e ( 48.348 — 41.925) X 2 12.846 | (?)




A7 vy 7T G )

% 7 i T EN B & | Wiy
FELm (13)
192 A& X 0.500 m= 96. 00 m 96. 000 (m)
96. 000 r X 0.995 m/} = 95.520 kg 95. 520 (ke)
ORI E AT
1.500 + 0.050) X 0 0 (m)
(GEMET)
20074
ayv 7 U—Fh
0.440 X 6. 500 2. 860 (m®)
R
0.400 X 6. 500 2.600 (m?)
=LA (D13)
1.990 X 6. 500 12. 935 (ke)
A
0.480 X 6. 500 3.120 (m®)







34, WOFHRE T RIER &

(ZD1)
H H R AL F=N ] & AR B

N FEmE T F300 18N/mm2

R AT T A m’ 162.5 - 162.5
AR m 202. 0 - 202. 0
7 AE #14 X 50X 50 m? 162.5 - 162.5
Kz 7 ) —k m® 2.7 - 2.7
BTG m’ 76. 4 - 76. 4
PPN IR A Fili A= EeAf t=50mm m’ 76. 4 - 76. 4
R R

AS345 X v ¥R/~ $65,D19, L=5000 m 265. 0 - 265. 0
SR ALEYE 77 v xS 1 53 - 53
HIFLE m 249. 1 - 249. 1
777 MEA m® 0. 42 0.4




() & ST

1) AT #
A= (X5t #miE) =  162.5 m
L=( 65.3+ 81.9+ 69.2) - 48 X 0.3 = 202.0 m
418 it i 2R
2)5R%k ‘
A = (%5t #miE) =  162.5 m
3)KgIaro)—k
V=g @itKEy) XA
=( 69.2 + 26.9 ) - 66X 0.3)x 0.03% = 2.7m
MF 300 : A= 0.300 X 0.240 / 2 =0.036
4)EmEER
A = (BAMSTERE) = 76.4 m
5) BAMAT T+ HEAEEAt=50mm
A = (Rt &KY) = 76.4 m

6) SEMHEA  AS345 X v X R/ M, 665, D19, L=5000
L =A% iHIv) XL
= 53 X 5.000 =  265.0 m

7) SRERALER T

7ovbFxyvS = 53
8) HIFLE
HIFLE., A% GREHXE YD)
= 4.7 X 53 = 249.1 m
9) /7 k

EARE, A% @BEHHED)
V= 0.008 X 53 = 0.424 m3



T & L (Al & B



L AUB B R R E

Al BEERE (1)

o HE N
HA - FER AL - LS
LRE T | 2kt .| A&t
285~k e 20.9 — 20.9
X B " 102.1 — 102.1
a ) —h |BREEY| R o ck=24N/mm?*[ 206.1 — 206.1
AT I 16.0 22.6 38.6
&F I 345.1 22.6 367.7
INT Ak m? 66.7 — 66.7
R B ] 91.7 = 91.7
EhA - MR
il — TR ! =
Ny S JEERR HE l 98.8 98.8
AT I 56.0 78.8 134.8
aF n 313.2 78.8 392.0
a7V —h| ¢ ck=18N/mm? 7 88.5 = 88.5| V= 8.9m3
¥jLavy)—h [ TJE10cm oc =
T o N 3.8 = 3.8
a7 —k o ck=24N/mm{ m° — 0.4 0.4
43 L] 2 _
Bk . MBARE | m 3.7 3.7
TR n — 0.9 0.9
69 SR235 kg 13 0.0 13
P D13 I 1112 115 1227 | HEEETe
U SH=
(et ) D16~D25 ! 11160 | 1661 | 12821
SRE & | D29~D32 ” 5059 699 5758
SD345
1 T4 X 4y D35 " 0 0 0
(b N7ZRL) D38 ) 0 0 0
&t " 17344 2475 | 19819
e i FE ] b1 Om<L=1m |f&Hr 86 - 86
(i IEJE) om<L=<3m | » 67| -— 67
*%%Wfﬁfkﬁ% Im<L=2m i 63 = 63
EAE LIk D16 om<L=3m | » 37| — i
3m<L=4m | » 46 — 46
&t n 299 — 299




Al BEERER (2)

o HE N
HE - FER AL - E
LKt T | 2wk T | &t
HR AR Hm? 318 — 318
FHE TR
gT | RS | H<3om i ’ 78 s
it u 396 | — 396
HE R JECR " 6 — 6
o pp o 1| e . 40kN/m" %48 %
T H<4.0m |/ XA7HVHR—b /g:m3 13 13 GOkI\/mZUTK
h=30m | <&UHE | 7 — 3 3 I
A ERE X — IR t=30mm m? 0.3 — 0.3
TUA—RVNERE | MR 6 250 m 6.7 — 6.7
HEIAEE LAV m® — 0.4 0.4 | B¥THET
2227V —K 6 ck=36N/mm? — 1.1 1.1 | BT
#ITB 7Y 0 oN i
B — A 2 — 2.1 2.1 | B#BTE T
o Mk ¢ 200 — 2.4 2.4
H—RKL—L
Gr-A-2B /] = 8.4 8.4
wosE | KEE AT VP ¢ 75 m 10.4 — 10.4
TTEETE ok 1EA00mm X /2 30mm ) 32.6| — 3.6







(4) FEoArT




ARGE

2) 2R i T.

Ml E AR 1/2(

PRI i FE 1/2(

V= 1/2(

/\:/a::

(6) fivAr
1) 1%hE T
Ml AR 1/2(

PR e A 1/2(

V= 1/2(
N TF=
2) 2K i T.
AWM 1/2(
1/2(

PR o 1/2(
1/2(

V= 1/2(

INTF=

4.31

4.31

17.35
1/2

3.29

3.29

12.01

1/2

1.05

3.26

1.05
3.26

18.66
1/2

4.26

4.26

17.35
0.50

3.29

3.29

12.01

0.50

1.00

3.26

1.00
3.26

18.66
0.50

)X 4.05 = 17.35 m?
SMAlEFE S EE = 17.35 m?
)X 4.05 = 17.35 m?
PARIEAE S F 17.35 m?
)X 0.60 = 1041
X 0.50 X 3.69 = 0.46 m°
INEE = 10.9 m’
)X 3.65 = 12.01 m?
SMUEFE S EE = 12.01 m?
)X 3.65 = 12.01 m?
WRIEE SR = 12.01 m?
)X 0.60 = 721 m?
X 0.50 X 3.29 = 0.41 m®
NEE = 7.6 m
)X 4.05 = 4.15 m?
)X 445 = 1451
SMAlEFE S EE = 18.66 m?
)X 4.05 = 415 m’
)X 4.45 = 14.51 m?
WRIEEAFE = 18.66 m?®
)X 0.60 = 11.20 m?
X 0.50 X 3.69 = 0.46 m’
AN 1.7 m’
vA 7 (WK L)&F = 16.0 m’
vAL 7 QRN L) &R = 22.6 m°



A&

(6) HltE

ES LN
V=0.65 X
FTREHD
V=043 X
V=039 -
800

0.30 X
0.03 X
0.03

AT

[@#:0. 66n2]

£, B0 640 80

L

B0

690
850

496

B

2 0.39 m’
2 0.03 m’
= 0.40
800
BO 640 80 m#&:0. 43m2
X FEtR = S
1. 00%
gl 8
©| oo




AlRGE

2. B (i)

BB R=

BITHHERR=

B S TH=

WA A=

RS A=

R PN =

T 52 5 A=

(2) B B
AT =
Al A=
Al A=
ImA=
A=

(

—{(

1/2(

1/2(

1/2(
1/2(
1/2(
1/2(

34.40
0.78

0.60

0.60

4.25

0.25

3.74

3.74

0.47

0.46

38.70
3.99
4.05
3.99
4.05

1/2
1/2

1.90

+ 34.44 (m 7Y —MEFELD) = 68.84
— 0.55 )X 9.70 = 2.23
X /2 Xx( 3.74  + 3.74 )
- 0.50 X 2.93 } = -3.71
X /2  X( 3.74  + 3.74 )
- 0.50 X 2.93 } = -3.71
+ 4.25 )X 0.22 X 2 = -3.74
X 0.60 X 2 = 0.30
3.74 )X 1.05
0.15 X 0.25 — 1.22 = 2.67
(MBI R ZHE) (58 T 56)
+ 3.74 )X 1.05
— 0.15 X 0.25 — 1.22 = 2.67
(Hh7EG) K Z5E) G W)
X ( 0.55 + 0.55 ) = 0.52
+ 0.25 )X 050 X 2
— 0.15 X 0.25 X 2 = 0.64
()R EH) RSO MYEF = 66.7
- 39.29 (= 7V —MEFELD) = 77.99
+ 4.05 )X 2.10 = 8.44
- 4.05 )X 0.50 = 2.03
+ 4.05 )X 2.10 = 8.44
+ 4.05 )X 0.50 = 2.03
X ( 4.05 -+ 4.05 )X 1.10 = -4.46
X ( 4.05 -+ 4.05 )X 1.10 = —4.46
X ( 1.69 + 1.12 )X 0.15 X 9 = 1.69
EXBESEL = 91.7
+ 3.90 )X 9.70 +  21.25 X 92 = 98.8

(m27)—MEFELY)



NS

4) LEvArr

2) 2 T
SN T = 17.35 +  17.35 (a2 2U—MERELD) = 3470
A ifi= /2 431 + 4.31 )X 0.60 = 2.59 m’
NF= 0.71 X 3.69 = 2.62 m*
M2y FHERR= — 050 X 3.69 = -1.85 m’
NEE = 38.1 m?

6) HvAT

2) 29t T
SN IHi= 18.66 +  18.66 (a2 7U—MAERELY) = 37.32
= /2 1.05 + 3.26 + 1.05 + 3.26 )X 0.60 = 2.59 m’
N F= 0.71 X 3.69 = 2.62 m’
{5 FHEBR= — 0.50 X 3.69 = -1.85 m®
INEE = 40.7 m’

TA T QW T) AR = 78.8 m?



AlBE

(6) BitE
1A A
A= 0.65 X 4 =
AT
A= 0.85 X 0.30 X 2
+ (. 0.500 + 0.550 ) X 0.30 X 2 =
Mgt =
FkEH
A= 0.43 X 2 —
A1+
800 800
5. B0 640 80 mEfE 0. 65m2 5. B0 640 80 E#5:0. 43m2
K - D - iR = SER
D _1.00%,_ 1.00%_
i
F
g 3 7 /I g 3
S ,
% - A =
3. HLarZV—k (§E T/E10cm, o ck=18N/mm?)
A= ( 3.60 + 2.24 + 3.10 )X 9.90 =
V= 88.5 X 0.10 =
4. HLarr)— R
A= ( 3.60 -+ 2.24 + 3.10 + 9.90 ) X
0.10 X 7 =

2.60

3.7

0.86

88.5

8.9

3.8



ARGE

5. BRFh (—fRiEED )

_ vALT . &t
TR 7 B[ STy N  BBE | AR HAE

LR HE T | 20K fitg T LRHE T | 206 T

SR235 69 kg 13 0 0 0 0 0 13 0

D13 " 364 485 168 54 115 41 1112 115

D16 | » 400 1245 1697 59 55 0 3401 55

D16 | D19 | » 702 481 1433 23 50 0 2639 50

~ | D22 | » 0 0 0 0 0 0 0 0

D25 D25 | » 0 0 1346 3774 1556 0 5120 1556

SD345 AN 1102 1726 4476 3856 1661 0] 11160 1661

D29 | D29 | » 0 0 0 0 0 0 0 0

~ | D32 | » 518 0 1553 2988 699 0 5059 699

D32 [ /INGH | v 518 0 1553 2988 699 0 5059 699

D35 n 0 0 0 0 0 0 0 0

D38 n 0 0 0 0 0 0 0 0

ek n 1997 2211 6197 6898 2475 41 17344 2475

REEEEf OEIG= ’ 0.0 %
17344
PR BR A B LR ER

7 HEAL| 0<L=Im [1m<L=2m|2m<L=3m|3m<L=4m|4m<L=5m|5m<L=6m
D13 (&1 86 0 67 0 0 0
D16 ) 0 63 37 46 0 0
D19 N 0 0 0 0 0 0
D22 N 0 0 0 0 0 0
D25 N 0 0 0 0 0 0
/NEE " 86 63 104 46 0 0
= " 299







NS
7. ZMRL

(2) <SUHEE PRI, h=30m
1) AR /7 : 40kN/m*Z#8 2 80kN/m* PA T
- 2R T
KA T (=) —RE=(3.26%0.80+1.05%0.40)/0.80 % 3.8m )
AR 771 80kN/m” ZABZ HT-8 AR F1H380kN/m* LA F &7e 55970 FHifE T 5,
1<250cmE72 D HUELIE b=3.8/2.5X 0.60=1.0m
V= 3.3 X 0.8 X 1.0 = 3 gup?




NS

13, H—RL—/L5#E (¢ 200400 )
L= 0.40 X 6 = 24 m




1. AMBEEELIIHEFRESE

+ & F 5 HCGERL)
CEl

3 ABE +i
i SEA5 g

LSRRG - m || (D) (nd) (nf
No. 1 1.1
No. 2 | 4.9 0.9 1. 00 4.9
No. 3 4.9 3.0 1. 95 9.6
A A - BE o7 1 | 2.2 1.2 2.10 4.6

& B 12.0 19.1

+ & i B HWEATEEADH)

fmaTmIEAOH (RE L)

— YK T
V= 179 X 8.50 - 0.41 X 9 = 151.3 m°
N TSR
ZRET
= 19.9 X 8.50 - 0.46 X 2 = 168.2 m°
N T PERR

a7 319.5 m*



2. BSEVRE R LR

S E R AR RS R
HE - FER HAL | ALGA A2BE i

a7V —h | S IEY o ck=24N/mm” m® 18.2 17.0 35.2
TP — TR B - EE IS m’ — 5.1 5.1
D13 kg 267 252 519
e SR D16~D25 - Z 2045 2254 4299
D29~D32 " 0 0 0
At U 2312 2506 4818
ASATVERG R B ®9 SR235 kg 13 14 27
H Hidf t=10mm m? 12.2 10.4 22.6
TANRAT SGP 32A kg 19 20 39
vy PL ¢ 50X 3.2 I 1 1 2
FeLEAS m’ 0.005 0.005 0.010
REZEAE H Hl t=10mm m’ 3.2 — 3.2




L ARG R ES B RS A R

AUB B IR BB R

HHE - FER] AL g fig 2
av7)—h | SIS o ck=24N/mm” m’ 18.2
TP — BT e B - BRHAEIED) m’ -
D13 kg 267
£ PR E & pLo~bes SD345 ’ 201
D29~D32 Z 0
At " 2312
ARATNVERR| SR $9 SR235 kg 13
H Hubs t=10mm m’ 12.2 | SrFK
HARAT SGP 32A kg 19
Fyo PL ¢ 50X3.2 " 1
FeLEAS m’ 0.005
BiZe G H He t=10mm m’ 3.2




AU B B R
1. @2 2Y—k (o ck=24N/mm?)

V= ( 8.48 X 5.43
— 0.90 X 0.30 — 0.90 X 0.30 )X 0.40
+ 1/2 X 0.01 X 0.49 X 8.48 = 18.2
2. BN
Fi 1) 23 Hifir B
D13 kg 267
D16 | » 747
D16 D19 | » 356
~ D22 | » 942
. D25 D25 | » 0
N o 2045
D29 D29 | » 0
~ D32 | v 0
D32 | /N FH |y 0
& &t " 2312

B EX S @ 0.12t/m*LL F0.14t/m’ H i
3. AL TIVERRS

vl £ Hifir Hat
SR235 ¢ 9 kg 13
4. HHAf (t=10mm)
1A= ( 8.50 + 5.43 + 5.43
0.30 + 0.30 ) X 0.40
+ 1/2 X 0.01 X 0.49 X 2 = 7.99 m’
= 8.50 X 0.50 = 4.25 m*
&t = 2.2 m?
5. A ASA7 (SGP 32A X 200)
W= 0.20 X 28 X 3.38 kg/m = 19 kg
6. Frv 7 (PL$50X3.2)
W= x/4X  0.050 2x 0.0032 X 28 X 7850 kg/m’ = 1 kg
7. MM
V= g /4X( 0.0357 2x 0.20 —  0.016 %X 0.19 )X 28 = 0.005 m’

8. MEZEHH HH (t=10mm)
A= 7.88 X 0.40 = 3.2 m?



ALEEH A
25 =-NEEET

LENBEETIHESFHESE

b o BERE TH B IE R

5 H HLAL = e
a7 ) — | |18 840 m’ [14.1]8.7
I p — R m’ |16.3]23.5
st |BREL(GB0E y=20kN/m2) | m® |[5.1|2.5| FAMEEMEREREE2 LV
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ARk

LR BERET
By m IE @
2200
V51404‘ \ ¥ _51.404
o \ Ho
2k | K9
|
g | g
v 47.094 | R v 47.094
‘ 1128 %Lg‘
gH ’ ’ H_
K X £5
Y 43 804 i | | Y 43 804
1950 2270
a 7 U — MEFE
= 7.600 m (—WR ML 3.29 m “&MET : 4.31 m)
FEE 2.200 m Rl 0. 450 m JLERhE - 2.270 m
— IR L
= 6.39 X 2.20 = 14.06 m’
- 14.1m’
TR T
= 3.94 X 2.20 = 8.67m’
— 8.7 m°
P M i A
— R T
= 2.20 X 4.00 + 2.20 X 3.39 = 16.26 m*
—  16.3 m”*
TRt T
A = 2.20 X 4.47 + 2.20 X 4. 44 +  3.94 = 23.54 m°
—  23.5 m*
HIADK (Fef)
— Kt T
V = 1/2 X( 1.13 + 1.95 )X 3.29 = 507m’
— 5.1 m’
TRt T
V = 1/2 X( 0.05 + 1.13 )X 4.31 = 2.54m’
— 2.5 m’
BT
A ER RS
— Kt T.
A= 40 X 2.2 = 8.8 #m*
— 9 Hm*
TR T
A= 45 X 2.2 = 9.9 #m*
— 10 Bfm*
kAR
JACkF D16 L=1000@300
L=2. 20m47= V) D&%
= (2.20- 0.14- 0.016/2 X 2) / 0.30- 1 = 58K
— 5 $
AFHEE = 1.00 X 1.56 X 4 X 5 = 31.20 kg
= 31 kg
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1. iRt T(REEED)

FEHL-BEHLHEH THEAES

7 [ f"ﬁ
Bt EE 5[ :
T M
A= 3.61m2
| 345 |
B | 4.65 1
=2
HARLTEE o
(H) P
A=11.62m2
| 5.96
5.96
|
°)7f-7-:\=7\94)b1§i1ﬁ L At EE i
A=28.30m2 | s
|
*EEHL-BEHLHEOTONRIE. g e
DA TXREAIVEREFHET B,
3.57
FEHL-BEYLMEOT L1 KEMEE=-(LiF x Fif) x Z&/2
Al B FREE BrEfE  FHETmEiE T= =
i 11.62 (4.65+5.96) % 2.19/2
Him 2.20 11.62 11.62 2556 (4.65+5.96)%2.19/2
&t 2556 m°
FEHL-HEHLHFEEOT A
Al B FREE BrEfe FHETmE T= HE
kg 28.30 (5.96+7.82) X 3.10/2+(3.374+3.57) X 2.00/2
Ain 2.20 28.30 28.30 62.26 (5.96+7.82)%3.10/2+(3.37+3.57) X 2.00/2
a5t 62.26 m°
Bt trb
Al B FREE BrmEfE  FHOETmiE = HE
i 3.61 (1.04+3.45) % 1.61/2
Him 2.20 3.61 3.61 7.94 (1.044+3.45)x1.61/2
&5t 7.94 m3
Twast v= 794 m®




